K Electrolux

www.ersatzteil-service.de

ELECTROLUX OUTDOOR PRODUCTS

brand | McCULLOCH date |2002-01 SHEET 1/2
Model Product number
LM6047CD 9538783-08 McCulloch
LM5547CD 9538783-09 McCulloch

K] The Electrolux Group.The world’s No.1 choice.

Ihr Ersatzteilspezialist im Internet

MEPIPL02010019



www.ersatzteil-service.de

K Electrolux

ELECTROLUX OUTDOOR PRODUCTS

brand | McCULLOCH date | 2002-01 SHEET 2/2
LM6047CD; LM5547CD
Pos PN ELX PN MEP Q.ty Note Pos PN ELX PN MEP Q.ty Note
1 5312056-16 10135883 1 47 531206303 10160220 1 729 Li10X730
2 5312056-18 10135893 1 48 5312051-08 101211 60 2 A"S" 5/5/19
3 531205589 10135663 1 49 531207697 10766503 1 mm.275
4 531208844 20734900 4 e 2 50  5312082-07 20135323 1
5 5312056-07 101357 70 1 MP548S 54 531207856 10 8318 00 9 TR'L?EAOTA @
6 5312051-69 10121470 1 56  5312062-90 10160083 1
7 53120 71-65 10501200 1 M6 57  5312054-85 10135071 1
8 5312049-61 10115900 2 @65 58  5312061-80 10155190 1
9 5312084-91 20281800 2 M6 NYLON 59  5312054-93 10135080 1
10  5312070-89 10402401 2  TTSQ M8x50 60 531205720 10140113 1
11 531204923 10114303 2 61  5312057-26 10140147 1
12 5312070-90 10402402 2 @85 62  5312057-17 10140103 1
13 531 20 54-96 10 1351 13 1 63 531 20 57-38 10 1402 70 1
14 531 20 78-42 10 8308 00 4 TTSQ M6x40 64 531 20 62-77 10 1600 11 1
16 531 20 80-43 20 1219 83 1 65 531 20 57-39 10 1402 80 1
17 ~ 5312082-17 201357 30 1 Tg(ng 2F g 66 531 2057-24 10 1401 37 1
18 531208492 20282100 1 MSNYLON ) 371205723 10140127 A\ 1
19  5312066-66 10284700 2 @ 5/15/1,5 96 /531208425 202287 Co gl GG
69 531206283 10160020 1
n mmem wmme b0 Sbws maww
22 531205215 10121910 1 RIDPLASTIC 72 U T Y
ooy | 5a1 YRR WSO, V. 1 73 531210536 09120081 2 @ 170
23 531207937 10878000 1  TCTC @ 39x16 A U WA
24 531207923 10876103 1 7 S W y =
25 53120 60-00 10 1463 40 1 mm.1090/88 76 5312066-81 10291000 3 M8x60
26 531 20 60-33 10 1467 30 1 mmH](_)l%(?A 76 531 20 66-81 10 2910 00 2 B&S TE M8x60
26 5312077-54 10800400 1  B&S mm.1385 ¢ S . 2 /A Mex90
e 77 5312049-07 10100900 1  DIN 6888 4x6,5
27 531205191 10121610 1 - 45q7/148 78 531205557 10135413 1
27 53120 58-13 10 1409 50 1 ﬂgg‘/%\z mm 79  5312079-81 20 1062 00 6 @ 8IE
28 531207978 20101700 4 M10 80  5312079-82 20106300 5 M8
09 5300 Smmad 10 1215 Gl & 82  5312078-48 10831300 1 H.85
30  5312105-37 09135291 2 2 210 88 Q@O BRIl ' cm.47
31 531210538 10114801 4 85  5312072:43% 110531700 1
32 531205042 10120090 4 86 5312072-37 10530900 1
33 531206644 10275100 4 B13x1,2 87 531206649 10280901 1 E23%
34 531208772 20655800 6 @ 12/E 88 531208259 20140373 1
35 531208859 20761300 2 @ 12/17/0,3 80  5312057-63 10140393 1
36 531205045 10120160 1 RH 00 531204522 09140413 1
37 531207847 10831200 2 @ 12/34/0,7 91  5312077-03 10768400 1 @ 5x30
38 531208778 20657600 2  GOLZRSO 92 5312088-99 20768203 1
39 531205538 10135283 1 93 531205469 10135050 1
40  5312050-46 10120170 1 LIH 94 531205581 10135600 2
41 531206652 10281200 4 95 531206305 10160240 4 MOCIECODIN
986
42 531207385 10602800 4 N-OBATAD 9  5312063-06 10160250 4  @6/14/15
43 531206288 10160050 1  ModPLASTIC 97 531206510 10172570 1 mm.1085/99
44 531204755 09767400 1 99 531206308 10160273 1
45 531206289 10160070 1 ModALUMINIUM 100  5312058-18 10140970 1 ANTURS 7L
46 531204759 097679 00 1 101  5312058-23 10 1409 83 2 TCTC-2F @ 4x30

K] The Electrolux Group.The world’s No.1 choice.

Ihr Ersatzteilspezialist im Internet

MEPIPL02010019



	3: LM5547CD
	4: 9538783-09 McCulloch
	1: MEPIPL02010019


